A CAUTION

‘ N\\p

S100
O\

- The turbine motor can be damaged if not serviced properly. Have the brushes { Kit P/N 027791 6) checke(ébr wear

by an authorized service center evary 400 hours.

+ Clean filters regularly. Clogged filters can cause excessive heat and possibly damage the unit.

+ If the unit does not turn on when the switch is pushed, check the fuse and replace if necessary. if the fuse is not
blown and the unit will not start, take to an authorized service center.

Parts List 14 -
ltem  Part No. Description Quantity.
1 0277316 Ring, exhaust fiting ............ieeeeiiinn 1
2 0277409 Turbine exhaust pipe ...........occceeeenieenee 1
3 0277400 RedUCar e 1
4 0277425 O-FING (i 1
5 0277397 Pad e 1
) 0277402 Foam Tape ..o 1
7 0277454 Bettom housing, US ..o 1
8 0090628 Foot Pad . ...t 4
9 9802222 SCIBW it iveeeeiv et ai b 4
10 0277383 Vet plate oo 1
11 9800308 Screw, hex soc hd cap 1/4-20x 1 ... 4
12 0276363 Strainrelief ... 1
13 0277471 COrd o 1
14 0293395 Screw, 8-32 x 3/8 Taptite ................... 12
15 0277392 Filter can, small ..................oov v 2
16 0277946 Airfan filter ..., 1
17 0277367 Filtar screen ... 2
18 0277407 Fan noise foam .......... T TR 2
19 0277353 Can GOVEI .o e e 1
20 Q277386 Can mountifoct ... ... . R &
21 0276538 Foam disk .o 1

Part No.

0277501
0277944
9802234
0277180
9800121
0277469
Q0277370
G277412
0277936
9820312
9810108
9803104
0277379
0275476
0269112
54276

0277281
0277389
0277380
0277372

» For additional troubleshooting information, see the manual that came with your gun.

Description

Brackel ..., 1
Fiiter, 2-Stage ..oooivve e 1
SCMBW oo 3
Silencer assembly, 6 inch diameter...... 1
Bolt, hex head 1/4-20 x 3.25................ 3
Foamdisk ... 1
Can COVEN i 1
Turbirg SPACer ..o 3
Turbine assembly, 2-stage, 120V ......... 1
Washer, 1/4inch .........ooccoiii 3
Nut, hex 1/4-20 ..., 3
SCIEW .. riiiiveiirier i s st 6
Cupholder ... 1
SWIICH . 1
Fuse holder ... 1
Fuse, ABCR ...c..o. oo 1
Top housing ... TR 1
Foam Tape ..o i 2
Handhle .. i
Foam Tape ... ... .2

< ‘Wagner Soray Tech Corporatron  All Rignts Reserved.



